RABROEXREEVOFHHESLRVRS FEZLOLSE (FFIFE10A ~HH4FIA)

; nsy B \MBEEREESA)
EXREYER | Bk ’ N
ik | 3/10 3/11 3/12 4/1 4/2 4/3 4/4 4/5 4/6 4/7 4/8 4/9
t
B —
m
t 25 1.85 1.41 0.32 438 29 0 3.05 2.46 2.26 4 2.75
S TSRE¥ | —
% m
A t
m
Feael t 93.42 5354| 122.56 71.44 70.72|  104.69 33.93 81.33 78.47 78.83 91.44 66.45
TAVMERR |
BISRFYIHE
" t 0.66 22 0.42 14 0.16 0.7 1.64 1.21 0.56 1.15 0.89 0.43
BEH] ~
m
S
it =gkl t
% [
RER t
pikva m
- t 96.58 57.59| 124.39 73.16 7526 108.29 3557 85.59 81.49 82.24 96.33 69.63
=N} rn]
g |t 0.44 1.76 0.26 0.37 0.13 0.16 1.22 0.89 06 0.24 0.31 0.48
5@ o t
R<F o A -
m
- t 0.44 1.76 0.26 0.37 0.13 0.16 1.22 0.89 06 0.24 0.31 0.48
=N} rn]
z 510 t 248 15.7 230 129 129 246 16.1 16.7 17.1 198 134 12.0
it m 229 150 199 209 610 361 232 236 165 374 208 226
[=g i) t
= pikva m
it TER t
2B<T p
% [
" t 10.63 6.71 9.85 553 554 10.54 6.90 717 7.33 8.48 5.75 5.15
BEH] ~
m
- t 35.4 224 328 184 185 35.1 230 23.9 244 28.3 192 172
=e m 229 150 199 209 610 361 232 236 165 374 208 226
ES t
= =
%{ JLH] rn]
[=g i) t
= pikva m
: RER t
T X i
pre ik m
" t
BEH] ~
m
P t
Ba 3
m
ES t
= =
%{ JLH] rn]
=0T 5.71 1.97 125 2.79 337 7.76 10.88 554 6.17 10.32 761 5.2
= pikva m
. E RER |t 414 2.95 459 3.11 454 461 1.97 2.38 307 9.21 2.29 3.46
HoRCE BT o :
pre ik m
" t
BEH] ~
m
- t 9.85 492 5.84 59 7.91 12.37 12.85 7.92 9.24 1953 99 8.66
=N} rn]
ES t
= =
%{ JLH] rn]
[=g i) t
= pikva m
N 5 RER t
KhEsE 3 i
n @y | m
7
t 0 0 0 0 0 0 0 0 0 0 0 0
A -
m
= t
&it -
m
[=g i) t
kv m
= v
i RER t
a0 v m
RBEEEY Vo "
BEAD —
m
- t 0 0 0 0 0 0 0 0 0 0 0 0
L 3
m
% 540 t 1.51 2.32 202 7.63 111 2.99 303 1.91 3.28 8.66 3.75 2.94
go{ JU Py
A m
[=giEid) t
kv m
-;; RER t
BEOAHEERER M —
kv m
9:'\
t
BEAD —
m
ast t 1.51 2.32 202 7.63 111 2.99 303 1.91 3.28 8.66 3.75 2.94
[=}-} rﬁ
N t 0.53 0.76 0.81 0.77 113 2.1 0.69 0.53 08 0.81 0.59 1.07
K&t -
= m
=
it t
. p m
BEAE Vo "
m
- t 0.53 0.76 0.81 0.77 113 2.1 0.69 0.53 08 0.81 0.59 1.07
[=}-} rﬁ
N t 0.46 0.78 0.82 05 0.56 0.91 0.56 0.4 1.16 0.59 0.23 08
K&t -
= m
=
it t
L m
B EMh 4 :
m
- t 0.46 0.78 0.82 05 0.56 0.91 0.56 0.4 1.16 0.59 0.23 08
K] 3
m




